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With this last issue of 1994 the readers of EG will receive a copy of the German "Infoblatt" which contains
tourney announcements in every kind of chess composition. We are very happy with this novelty and wish to
thank mr. Fiedler and mr. ellinghoven for offering us the opportunity to give our readers this extra
information. We think that even readers without knowledge of the German language will find uscfull
information in "Infoblatt".
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A view last minute messages:

1) The Mongolian jubilee tourney S.Denzen-60 (for the reported announcement, see EG94, p456) was,
it now appears, for problems only, and not for studies.

2) Alain Pallier and Harold van der Heijden supplied the reasons for the eliminations of the Van Tets
(EG 112 #9309) and the Carvajal (EG 112 #9355). The Van Tets won a 2nd Prize in Chess Life
1991. For the Carvajal compare the position after the first move with Kalandadze, 3HM '64' 1968:
elh5 0380.21 g8a2clc8d8.a6b7c4 5/5+. Obviously the judges decided that adding one move to an
existing studie is just not enough for a 2nd Prize.

3) In this issue you'll find the Tavariani 70 award with the remark that we did not receive the initial
position of the lst/2nd Prize by Gurgenidze. The shown position is David Blundell's reconstruction.
We just received the initial position after all. To get the good position move the white Rook from f7
to h5 and the black Rook from f4 to c4.
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THE 6-MAN PAWNLESS ENDGAME ROOK
AND BISHOP AGAINST TWO KNIGHTS
WITH THE 223-MOVE WIN
commented by John Roycroft

Introduction
"... there are ... grey areas in endgame theory,
where the general case is itself unclear. One such
example is Q and nP against Q. Another ... is
2B's against S ... where the books give only one
known drawing position (for example, black Sb7,
black Kc7), and even this is not a solid fortress."
[Note: this was written 16 years before the computer
discovery that two bishops 'always' win against a
knight.]"... one would like to see ... a clarification
of the grey areas. On the other hand it is unrealis-
tic to expect all grey areas to be tidied up. Why,
in the whole range of possible distributions of
force, should there not be one or more where
roughly half the positions are wins and half
draws, so that the area is permanently 'grey'? ....
case in point ... the ending two S's against R and
B ... Che'ron (Vol.1, second edition 1960, p.298)
and Fine (p.521) give this material as drawn,
under the general class of 2 minor pieces against
R and minor piece, but Fine adds 'there are quite
a few exceptions, especially with R and B against
2SV. Neither Che'ron nor Fine give any examples
of R and B against 2S's ..." [The Averbakh
volumes exclude endings with two pieces on one
side. The composer Henri Rinck published 5
studies with this material, none with solutions
longer than 7 moves, and with the supporting
analyses assuming a draw in the general case.] "...
It is possible to discuss the subject without
diagrams, and this is all we intend to do. We have
no proof, just observations. Assume W has R and
B. W's weapons are mate, win of S, reduction to
a winning case of R against S (by no means rare).
Both R and B are pieces that can pin. Both can
also tempo, while this is difficult with S's, so that
zugzwang is a useful tactic also. How should Bl
defend? Clearly all his pieces should be kept
together. Suppose he tries a hedgehog position
with S's supporting each other and bK in bet-
ween. But then wB can attack one S, and if either
S can be pinned by wR then W wins, for wK can
obviously approach the more exposed S. (One S
will always be more exposed than the other in
such situations.) If the exposed bS can also be
attacked by wB then it can probably be attacked
by all 3 W pieces, and Bl has only 2 defenders,
so that BxS wins automatically. ... there will be
drawing chances only if the exposed S cannot be
attacked by wB. To prevent wK approaching it is
clear that bS's should be on opposite colours even

if they do not defend one another (b3 and c3, for
instance), but as in such cases it requires 2 moves
for one S to defend the other in an emergency,
even though wK cannot approach it is clear that
the Bl position is difficult. If bS's are on the
same colour, wK can approach; if on different
colours, one S is certain to be vulnerable to pins
and tempo-manoeuvres. There really only remains
a 'running fight' defence, with fluid play by all
the participants, but here also the R and B
working from a distance are well suited, while the
S's, apart from their powerful forking ability,
must rely on continuous checking to keep wK
away. Such play is ... very complex to analyse. ...
Has the ending R and B against 2S's without P's
ever occurred in master play?" (Abbreviated from
the editorial of issue 8 of EG, dated April 1967.)

The Stiller/Elkies discovery of June 1991

In June 1991 computer programmer and resear-
cher Lewis Stiller, with advice from
mathematician and studies specialist Noam Elkies,
used the Connection Machine in the U.S.A. to
wrench open an unsuspected treasure vault com-
parable to the discovery of the Tomb of
Tutankhamun. Impact on practical play will be
imperceptible, unless it results in the burying of
the '50-move rule' and all its relatives in the
Tomb which will then be sealed for ever. The
value lies rather in the demonstration of how far
humans are from mastering chess: nothing in
chess literature, history or experience prepares us
for what we see here - unless it is earlier com-
puter results. We use a 'polyphoto' approach,
with the 75 moments chosen by the commentator.
To reduce space, 'equi-optimal' moves are
omitted.

'///////. Sss////s. sss/ss//. SSA/////.

D1WTM a7d3 0116 b2b3c6d6 3/3+.
W, in check, has to avoid the exchange of wB for
bS, as this would lead to a drawn R vs. S 4-man
ending. This defensive resource occurs throughout
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the length of the solution, though towards the
half-way stage we begin to encounter cases where
the swap favours W. If l.Kb6? Sd4, for Sc4+.
l.Ka7-a6 Sc6-b4+ 2.Ka6-a5 Sb4-c6+ 3.Ka5-a4
Sd6-c4 4.Rb2-h2 Sc4-b6+ 5.Ka4-a3 Sb6-c4+
6.Ka3-a2 Sc6-b4+7.Ka2-al

15.Rh2-h3+ Sb4-d3

D2 ald3 0116 h2b3b4c4 BTM
The K-march down the board's edge pursued (or
accompanied) by a pair of opposing S's is seen in
endgame studies by the Georgian FIDE
Grandmaster composer Gia Nadareishvili.

7... Sc4-e5 8.Kal-b2 Se5-c4+ 9.Kb2-cl Kd3-c3
10.Bb3-dl Sb4-d3+ l l .Kc l -b l Sc4-d2+
12.Kbl-al Sd2-b3+ 13.Kal-a2 Sb3-c5 14.Ka2-a3
Sd3-b4

D3 a3c3 0116 H2dlb4c5 WTM
W has saved his B from being exchanged, but
with bSb4-d3-b4 as an oscillating manoeuvre and
bK on a dark square secure from wB checks, W's
only weapons seem to be the R and a squeeze (ie
to give Bl the move so that his stranglehold on
wK has to slacken).

It looks as if W has nothing up his sleeve. If
bSd3 is not pinned it can move to and fro, and if
it is pinned bK can oscillate between c3 and d2.

16.Bdl-g4 Kc3-d4 17.Bg4-f5 Sd3-f2 18.Rh3-h6
Sf2-d3 19.Ka3-a2 Kd4-e5 2O.Bf5-g6 Ke5-d4

D5 a2d4 0116 h6g6c5d3 WTM
When two S's protect one another they set up a
defensive ring of steel - but like magician enter-
tainers' interlocking and separating 'Chinese
rings' there has to be a gap or two. If the attacker
times it right (before another ring is formed) the
grip can be locally loosened. This happens time
and again in the lengthy 5-man endgame Q vs.
SS. The comparison of R and B with Q in the
battle against two S's is most interesting, seeing
that the move of the Q combines those of R and
B.
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21.Ka2-bl Kd4-c3 22.Bg6-h7 Kc3-d2 23.Rh6-h2+
Kd2-c3 24.Bh7-g8

27.Bg8-e6 Kd4-e3 28.Be6-f5 Sb4-d5

D6 blc3 0116 h2g8c5d3 BTM
wK and wB from opposite sides of the board
combine to show that the soft spot in the Bl cor-
don is the square c2. If W can play Rc2+, and
Rc4+, then wKc2, and the blockade is breached.
Remarkably, bSS cannot prevent this by checks,
nor can they any longer gain tempi by attacking
either W piece! The W preparation for this has
already taken up 24 moves. Playing optimally, Bl
does not wait for the demonstration, but sets up
his next line of defence.

24... Kc3-d4 25.Kbl-c2 Sd3-b4+ 26.Kc2-dl
Sc5-e4

D7 dld4 0116 h2g8b4e4 WTM
The characteristics of this position are now very
different - and obscure. Bl solidly occupies the
centre. It is not clear why 27.Ke2, is not best,
except on the general grounds that the other W
pieces should improve their positions: their
present positioning was good for the now ac-
complished breach of the blockade, but are not so
good for whatever th« next phase demands - and
that phase must include the safe 'advance' by wK
to displace bK from the centre of the board.

D8 dle3 0116 H2f5d5e4 WTM
W's reorganisation is not clear because Bl's
defensive plan is not clear either! (Whenever
there are, as here, 'equioptimal moves' at succes-
sive turns to play we suspect a regrouping to be
in progress).

29.Kdl-cl Se4-d6 3O.Bf5-d7

D9 cle3 0116 H2d7d5d6 BTM
Bl has maximum mobility and central occupancy
with a bS on each colour which allows (in prin-
ciple) the option to check at any time - or at any
rate wK will be severely restricted in his options.

30... Ke3-d4 31.Kcl-b2
Kd4-d5 33.Bd7-a4

Sd5-e3 32.Rh2-h4+
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D10 b2d5 0116 H4a4d6e3 BTM
The target has to be c4. Imagine bSc4 with wBb3
and wKc3, when Bxc4 will surely win. Bl of
course avoids this. One use of wB that we should
look out for is the control of squares from which
bSS could deliver nuisance checks as wK advan-
ces.

33... Sd6-f5 34.Rh4-h8 Sf5-d6 35.Rh8-h5+
Kd5-d4 36.Ba4-c6 Sd6-c4+ 37.Kb2-b3 Sc4-d2+
38.Kb3-b4

Dl 1 b4d4 0116 h5c6d2e3 BTM
We can begin to talk about W exerting pressure.
wK does so now, while wB and wR pressurise
the d5 and e4 squares. Bl should avoid these so
he is forced to occupy others: he 'suffers' from
having to move one of his three men at each turn!

38... Sd2-e4

D12 b4d4 0116 h5c6e3e4 WT1V
W can nearly always safely (ie not endangering
the piece moved) lose a move because R and B
are both line-pieces whose effectiveness is
generally restricted when close to the scene of
action. Only the (arbitrary) board-size limits the
distance of their effectiveness. It is interesting that
if we replace wR and wB (in this position) by the
'stronger' wQ (i.e. the ending now becomes
5-man) we have a general draw (not in the
endgame books, which largely ignore the

endgame Q vs SS, but I have verified this against
the Thompson data base). The explanation why
the 'weaker' force wins is that given the right
situation a S can be attacked once more than it
can be defended, so that BxS is a very powerful
threat - there is no equivalent threat using a Q.
(Of course the Q transports her power much
faster than two pieces can, but this counts for less
if targets are few.)

39.Bc6-a8 Se3-c2+ 4O.Kb4-b5 Sc2-e3 41.Kb5-c6

Maybe wB moved to a8 to get out of wK's way!
Anyway wRh5 does establish a barrier (supported
by wB controlling d5) and this allows wK to
outflank via the 'top' of the board. Control of d5
is currently the key factor.

41... Se4-f6 42.Rh5-h4+
Sf6-d7+ 44.Kc5-b5 Sd7-f6

Kd4-e5 43.Kc6-c5

D14 b5e6 0116 h4a8e3f6 WTM
Bl defends doggedly. We see that if Se3-f5 Bl has
indeed a good fortress set-up (as after move 38)
but one rank closer to a board edge. However, bK
'in front of bSS to block wK approaching is a
strong defence in any region of the board. W's
next is probably to focus on e4, since Bl has now
'overprotected' d5.
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45.Ba8-hl Se3-f5 46.Rh4-a4 5O.Ra4-a8 Ke5-d4 51.Ra8-d8+
52.Rd8-d5+ Ke5-f4 53.Rd5-a5

Kd4-e5

D15 b5e5 0116 a4hlf5f6 BTM
W has just played extreme-length moves with his
line pieces. We can see that wR supported by wB
creates a barrier (e4 is solidly in W's hands) and
wK shields wR from attack. But W must make
progress, presumably by advancing wK. It's BTM
here, of course...

46... Sf5-d6+ 47.Kb5-c5
Se4-g3 49.Bhl-g2 Sd6-e4

Sf6-e4+ 48.Kc5-c6

D16 c6e5 0116 a4g2e4g3 WTM
Bl has reconquered e4! But wK is a little farther
forward and not for the moment checkable - so
there is time for a W regrouping - if we can think
of one that holds on to the ground gained
(namely, wK's slightly improved position). wB is
restricted rather than active but we can say that
wB cannot be cornered and captured (or ex-
changed). That is why bK joining in a chase wB
would result only in bK being decoyed away from
the (desirable) board centre.

D17 c6f4 0116 a5g2e4g2 BTM
Well, W found a forcing continuation
(Ra4-a8-d8-d5-a5!) that has driven bK back a
little - and e4 looks a likely target for all the W
men. Short episodes, illustrated by the play from
D16 to D17, can characterise at least some of the
play in this ending. They lighten the darkness
when we can identify a clear target (in
chessplayer terms), even if we may not
understand why, for instance, Ra5+ was not
chosen from D16.

53... Se4-c3 54.Kc6-c5 Sg3-f5 55.Bg2-c6

D18 c5f4 0116 a5c6c3f5 BTM
wK now shields both pieces from S-harassment -
for the moment.
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55... Sf5-e3 56.Kc5-d4 59... Se3-f5 6O.Bc6-a8 Se2-g3 61.Kb4-c3 Sg3-e4+
62.Kc3-d3 Se4-g5 63.Ba8-c6

D19 d4f4 0116 a5c6c3e3 BTP
For the first time wK takes on an active role - the
initiative is in W's hands and bK is no longer
centralised - and therefore has less choice, less
freedom. W invites checks, and shows that they
can actually serve W's purpose. We should be
able to learn from such manoeuvres.

56... Sc3-e2+ 57.Kd4-d3 Se2-cl+ 58Kd3-c3
Scl-e2+59.Kc3-b4

D20 b4f5 0116 a5c6e2e3BTM
Did we speak too soon? Not really - bK is still
excluded from the four central squares. But again
the question recurs - how is W to build on his
achievements? It is in the nature of seamless
optimal play that we cannot expect to base future
plans on past move history. All has to be new -
and therefore exciting!

D21 d3f4 0116 a5c6f5g5 BTM
So the 'outflanking' on c6 was a feint! The real
outflanking is via d3! In the last few moves we
see W's control of the centre and in particular e4
consolidated.
63... Sg5-f7 64.Ra5-a4+ Kf4-e5 65.Ra4-a7

D22 d3e5 0116 a7c6f5f7 BTM
A small indication that W (still) has the initiative
is that bK has been forced (though how we still
do not know) to a square where bSf7 (under
attack) would like to play.
65... Sf5-d6 66.Ra7-a8 Ke5-f4 67.Ra8-a4+ Kf4-e5
68.Bc6-d7

D23 d3e5 0116 a4d7d6f7 BTM
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